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SECTION- (Macroec

“cash reserve rar;
1. Ifca Ve ratio = 5o,
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£ onomics)
0 S :

Define national Product (Fill wp the blank with correct alternative)
' 1

3. Marginal propensity ¢
Y 10 save cap never be 1

(a) zero (Choose the correct alternalive)

() positive (b) one

7 (d) negative
4. What do you mean by open market operations? 1

Or
Define money supply. 1

5. In order to encourage investment in the economy, the Central Bank may
1

(Choose the correct alternative)

(a) reduce Cash reserve Ratio

(b) increase Cash Reserve Ratio

(c) sell government securities in open market
(

d) increase bank rate
6. Central bank in the open market to correct the sitnation of
1

(Fill wp the blank with correct answer)

inflationary gap.

1. State whether the given statement is true or false:

{ deprcciulin g domestic currency, central bank sells
the US dollars in the international money market. 1

8‘ FIS 1t 1 estimate Of /. 1
cal deficit 1s an (Fill up the blank with correct answer)
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& of _umxam:a () Movement of omwn_m: |
_mnﬁm ,mmg,
S_v pa b rfum Veg
equiliD” s related to in goyer
chase of shar :50:;
10, Purc (Fill up the blank - Udg,
. i Uh co C
1ss domestic product be used as an index of welfare of 0 ey o,
i1, Can &7 * Peopl
reason™ omy s in equilibrium. The economy’s consumpy; :,
12. An M%ﬂo 6y where C i consumption expenditure an| v mw ion ?:55,
= : . . nat; .
C me is € 1,400. Find out the equilibrium ley Nationg _55.,

-onal InCo el
Natior! of Congyy,

expenditure and investment expenditure. M,
Or !

In an economy, the consumption function is C = 230 + 0.7Y
consumption expenditure and Y is income. Calculate the B::E::smwms
Q‘m:

income and consumption expenditure when investment expenditure js 4y
-

1. Explain the process of credit creation by commercial banks,
{

14. ‘Devaluation and depreciation of currency are one and the same thing’.
- Doy

agree? How do they alfect the exports of a country? A
Or
b - L4 . . . . ) . ..
Whatis meant by ‘official reserve transactions’? Discuss their 1mportance in balan
of payments. |

—.m. m ] "ole -
xplain the role the government can play through the budget in influendy

allocation of resources. A

16. (a) Which of . . )
:,cw_ww of 50. following items will be included/not included while estimati;
stossdomestic product of India? Give valid reasons in support of your ansi

(1) Wages receiv . )
ges received by an Indian working in the British embassy in Indiz

() Financial aid rereas
aal aid received from abroad after ‘Fani Cyclone’.

o)
Economics”

17.

18.
19.

20.

20"

4+2
Calculate ‘Compy, . data
AS Items Pensation Of _‘.:____:,\I C from the _::_J)_:N 2 in EOEMM—:«MN
; 2,5
(1) Wages in cash - 000
T reo! B,
(1) _.:5._:5. Scontribution o, social security schernes 500
@@ii) Medical allowan . / 5 500
(tv) Employers’ contribution teo social security schemes -
. ) Or
@ Explain the circular floy of income 343
AS Om_nc_mﬁn ::m::o«:m:n Oczm:_.:v:::, from the following dara: ) e)
Items (Z in cTOT
(i) Gross value of output 300
. o
(1) Net value added at factor s 10
, 15

(¢1) Subsidies

(v) Depreciation 30
state which of the following statements are true or false. Give valid reas
(a) According to Keynesian theory of employment, ex-ante savings and ex-post

savings are always equal. ‘
(b) In atwo sector economy, if income is zero, average propensity to consume will

ons-

also zero.
©) Value of investment multiplier varies between zero and infinity. 6

SECTION-B (Indian Economic Development)

India’s first official census operation was undertaken in which vear?
State whether the following statement is true or false:

During the British rule, Indian economy achieved comparative advantage in the
export of industrial goods. 1
Identify the correct sequence of alternatives given in Column II by matching
them with respective terms in Column I: 1

Column I Column IT

(@) First Plan (1951-56) (i) Focussed on rapid industrialisation-

heavy and basic industries

() To make India a ‘self-reliant’
‘self- generating” economy

(i12) Focussed on ‘removal of poverty’ (Garibi
Hatao) and "attainment of self-reliance’

(b) Second Plan (1956-61) and

(¢) Third Plan (1961-66)

(tv) Focussed on agriculture

(d) Fifth Plan (1974-79)

11
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: / i ucture i 2 C
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u
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e you think that their ownersh; in the process of power generatiot:
ership should be in different hands? =

. Ul While discussing the mer
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census 2011, barely

rding to B
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Cou
4
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o4 1 Jentify the correct sequence o alternatives given in C COorec g, l 31. Do you find the concept of mark ForCes ; - - -
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) Casual W orkers (#) The amount of lab m.oi .s:b the growth of food processing industry help solve the problem of
“re willin abour that the work &_mmc_mma unemployment in Indian agriculture: 4
c to - . €1y ’
_u,:dnc_m:.msﬁ offer con esponding (o, 32. Comment on the growth rate trends witnessed in China and {ndia in the last two
< age rate decades. 4
b) Regular workers n . « : : "
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(c) Labour su Eu_z (ifi) On the permanent ﬁwvi.o: of thei wwoca. be the nosmaﬁ,msow for wz.n,: write-offs? . . .m
m::u_OJ\mn.m 34. What 18 meant by ﬁoﬁu&f m.xgm;: the ﬁibn.%mw causes of poverty in India with
(@) Labour force . o reference to underdevelopment of the Indian economy. 6
‘ (iv) Daily wagers, not hired by the compay Or
25. . on ~,mm:_m~. DASIS Why is India one of the most favourable medical toursm destinations 1N the
T of the workforce 1s defined as the percentage of workforc ot 6
e formal sector tends to decline and that in the informal sector tends toTi% il
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6. Ching | (Fill up the plank with correct alternali!
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SECTION-A (Macroeconomics)

juct (o7 national income) is the sum total
1

ofit + wages) earned by normal residen,
mﬁ

arket operations refer to the sale and purchgag

m .

e market by the central bank of the coungy
Or

Money supply refers to the total quantity or

cconomy 2 point of ime.

e
of mo<m:§
vm ODH mm
nE___»

st

ock of Money availy,
. "
5. (a) reduce Cash reserve Ratio n

b
6, sells government securities
3 >}

7. True
g, borrowings by the government

9. (¢) Capital account of balance of Payments— (i) H:HmEmaoza
sa

le-anq Purc

of financia] assets

. r ,
10. capital expenditure i

11. Often gross domestic product (
people, but there are str
reasons:

GDP) is considered :
) as an ind
0ng exceptions to this gener ex of welfare of th

alisation, mozos;:m are g
t

(a) Ifwith every increase in the level of GDP distribution of GDP i
g is

hich results in lesser we e e e
s er wel
Composition of GDP may not be welfare or
8:% to rise. There is no direct increase i
. has risen owing largely to the incr
2. Given, consumption expenditure

Nationa] income (Y)

(b)

n haves gy
fare of the society.

iented even when the level of GDp

se in the welfare of the masses if GDp
ease in the production of defence goods.
(C) = 160 + 0.6Y

=% 1,400

Consumption expenditure, C = 160 + (.6Y

= 160 + 0.6 (1,400)
=160 + 840
= 1,000

»

13.

A 2_5___::::_ )

on I

"

Vo

1400 - 1 000

= 40)()
ilibrium level of o .
mb:__ ._,_::T::: ?x—.v:;::?

) (=7 1000.
gquilibrium level of investrmen expenditure. _4 =% 400,
Or
Given, C = 230 + 0.7y
Investment expenditure (1) = 400
At equilibrium, Y=C+]
Y =230+ 0.7Y + 400
Y =630+ 0.7Y
Y-0.7Y =630
0.3Y =630
Y = Ww|m = 2,100
When Y = 2,100, C =230 + 0.7 (2,100)
=230 + 1,470
= 1,700

mncEvi:E level of income, Y = 2,100.

Equilibrium level of consumption expenditure, C=1.,700. . s, Following

Credit creation is an important function of the commercial banks.

observations highlight how it happens:

(a) Banks receive cash deposits from the people.

(¢c) Lending is done not in cash but by way ot op m o only @ s Al

favour of the borrowers. Thus, cash reserves of ﬁ.wm an T ks by Way

percentage of their demand deposits. This 13 possible dwnwcwm,w o domosits

of their historical experience know that ns? a wBE,_ vwanwwoswambnm of the

is withdrawn as cash during a period of ume. Banks enjoy

vmow_n that their money is safe with the ga.&. € 10,000 and heir

Example: If cash reserves of the commercial U.wbwm wa‘o a.am e vmow—mv

demand deposits (total liability of the commercial banks towa et mate

mms T 10 owo then the commercial banks rﬁwn noMMnMMMQQm&w g
0. Im ine that the supply of money through de

M:H%w:ww wo Wswmww_%o even ,,&Ms cash reserves of the banks are only X 10,000

) 1,00,000 10
Credit multiplier = Jlo\og\ = 10.
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pan® ere ; eq blic goods (|; el . SN Mk [ vision for : o

eep SO s . eren PrE MWand g ~ sufficient provis s0 addresses
fo keeP d depreciation are different terms, environmental jgg,, rder, defenc,. Public administration). It also ad

_Q i?::m

: s . . - (CNG,
cm,&:mn% W,EEW fall in the value of aoBmmzn Q:,.,m:Q . LPG, solar an( wing| Cnergy Subsidies o, the use of cleaner energy
) jon 18 , . 1 j i _ -
14 cm«‘&zm%n E:mmm by the government, It ._Hmvvm:m In m:c 5 16. @ @ <<mmmm TeCCive| by an Indian, . . bassy in India 1s
mE.R:Q mwﬁamﬁﬂm:& by the forces of mCUU—v\ and QmSNJN% .:9 _”n_:n_nﬁ_ in 8ross aegvﬁzﬁsﬁu;__:m _:wl_gm W:m;: m_H wlmﬁr embassy
; ¢ de . , 1S no a part f " o Toduct ¢ ndia becaus ‘.- f
rate 1§ %E of different countries. economic S%:MOSSE 5:32 of India, as British embassy is a part ©
govern™me on the other hand, is the fa]] i, the value o (i) Financial 5 " Of Britain, he
iation, . Tecejy ; . ile estimating t
m%a%n foreign currency when .mxnwm:mm rate js QQQ,E@O value of 8ross goSmMMnis 2broad is ot 5.%%& i:?m mu:MM_ EM isa
relationt HM Jemand in the internationa] Money Marke Ingq 3\ ; g transfer Paymen; Product of s, This is because finan
T\m.z . | . . ) (T .
supp! er, both devaluation and depreciatiop, lead ¢4 fall i, th "t (b) Compensation of Employees
wever, . el ey = . . o ‘ocial
o ¢y in relation to the for .m_m: Q:.u.m:nv\. Oo:mma:m:z m_:m oEo S@m@.m 1 cash + Medicy) allowance *+ Emplovers’ contribution to socia
currenc) heaper in terms of foreign currency, Accor &:m_v\ Ys Qosmm:n My Security scheme
OBQ c . . 4 OX 8 = =
«@ﬂ% imports are discouraged). Porg teng HMOH@ ¥2,500 thousang * %500 thousang % 2,000 thousand
W I

T 5,000 thousanq
Compensation of €mployees <

Or

ﬁ.mamaoaanmcmmmrm:mmm_.:Em officia] Teserves of the .
i enty
known as official reserve transactions. trg |,

35,000 thousand.
ang y Or

d ital (@) The flow of Production, income apq €Xpenditure is a circular flow. waoa:n.cow
When current account v&m:nm and capita account g_m:nm IS noy equal gives rise to Income, income gives rise 1o demand for goods and u,mﬁ.Mmua.
there is movement of official reserves of the centra] bank, 02 and demand in tyry gives rise to expenditure. Expenditure leads to furthe
. ) ion. ure becomes
When current account balance and capiig] account balapce €qual tg 5y, E&w Bmw: :::w the flow of Production, income pma mym@:hm fieure given
4 _ r (0] 1 . S J18 S T 1N o]
1s 0o movement of officia] reserves of the central bapk . tey m:_n wa *BINIng or no end. This flows shown i °
. . . | clow:
Accommodating items in the balance of Payments rejate only to the Movemep .
i . : . . 0
offcial reserves with a view to correcting Bop Imbalance, |
Thus, official reserves are reduced when there is Bop deficit and gpe increag
when there is BoP surplus, 2By, ©
ol : . . . g Circular Flow &4
Briefly. official reserves are used to eliminate the situations of surplus and defy 8 ofincome S
BoP £ s
Market economies are believed o achieve optimum  allocation of resource
E&S:m such goods and services which the consumers wish to buy. But ti
“rtmal allocation, of Tesources achjeveq through the market forces of supply
~Mand does noy Necessarily mean ap efficient allocation of resources in termsd
22l welfara $ . . (18
dwelfare, Social welfare often suffers a5 the market economies do not prodi mm
L
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100 pant ™ e ﬁmzom of one year. Ex-pog, Ple ;) g nemploymen vy g ¢ he principal cause®
- , 2 . - . . n AT thie ¥ ¥
. @ Emm:_:ﬂmc::ﬂ \ring the ﬁm:o.m of one year. ?:;:f :c:._ @) On ACCOUNt of oy
17 an:meQ:Q:C. L . MO. ::.,_ _.c_,c_‘ l colleges and SChooy Tf.: YO OF el e atrermal tanons, ViEe .:)T..ﬁ‘;:: ?/
. e “ly tremendously Yothe  nymy ynal insutubitar . increase’
Eﬁr C_ Y mher of e e =0NS has
g - 1723 ~ - h; > . e atedd peTIO
3:&. \.amozum is zero average m:OUmSm;v\ to « .J\: ) Education system . , .
1 . ; ini o . Yhans arge f 100 nted-
@) False I here 1S always some minimum leve] of ¢ DSy, ) () Growth process gy, Vs dargely degree orented | of job-omient .
e, . . . o, § “COnmntyy 1 ecls AaNGa
meE o) in the economy even when i o:a_:d f: \ means of the coup,. e %: Nt preceding ace . the need )
mbam::uﬁn Dnogm 1 U:o: c: technology. Sead i berng driven - A iNE nnovanve
( mt:.: not be zero- evel . fay, .
APC(TY 5
. . o Nm /3 C
., - . i\ . T
value of mv estment :::Q@TO~ varies Umﬁ 0, : pDistress w.wﬁ qomwﬂ tO a2 Situnatic I
© Bl alue of investment multiplier is 1, | een o, | produce immediately aficy g, m wherein farmers are compelled €9 & g
minim¥ . ; . - 1t a is fa ab] T the hatvest. no marrer wherher marer ~rice of O
MPC 15 pever negative. At least it js = Can Dey, Nq m:m mVﬂQﬁanm. s favourable or oy 1, R ether mat SR T _ean
pecause =0, anqg m er vm_ Ny are still inadequate. In Indiy 1appens where instmitional  sOUTees of cr N
o ?MWQ = Qu Ost : mm mmm :;W, H—0=|wﬁnwﬂwﬁcﬁ.~osw— sources ﬁr—ﬁm.—ﬂj?i of the igTicnlt iral credir 15 sourced through
< ) v . . chas Ao . azenis.
“ K = 1 1 ® Credit is easily available th moneylenders. rraders and commMission ag="o
- = 1 Tough these sources © .
1-MPC 1-0 =7 = crops to the lenders. Distres € soutces. But. otien
PC =1 I =1 . s sale thus becomes unavoidab
In case MPC = > 1 99. The three services required in the e .
TOCEess Of DOow _ 2 R ollow
K = 1 1 Generation of electric process of power generanon ars tHs T
1-MPC = ] _ (a) ectricity.
1575 =

() Transmission of electricity.

©) Distribution of electricity.

So that value of K (multiplier) always varies betwe o

SECTION-B (Indian Economic cmsw_au:_m:c (infinj,

The ownership of these three services should be 10 diferent ha ~ds. Both the
vernment as well as the priv be wn ditierent Bamte .
go s the private plavers can operate -
.~%. N%%N LR 1 operate
19. False

ici i e in the Deld ot senerauon
of electricity. With respect to transmission of generated ele e held O 5

f generated el
20. (@)-iv), (0)-0). (€)-(2), (d)-(i%F)

21, (1) inward looking strategy

i it should better
W t] - CUricithv., L >
be left .Ow 7 e government to take care of. Distribunon of electniary will be best
served if it is operated by private players

-\\,

22. 219 per cent increase in rate of nnw_.p ot Wiknessel Sgmasmaoh S5 A of
omic growth, inflows of foreign myestment. Ms€ 10 foreign
mxnﬁm:.wmo reserves, rise in exports, control on nflanon, recognmiuon of India as an
head count ratio o Doverty i Or emerging economic power and a shift from state monopoly compenuve market.
2, 744 poverty incidence ratio However, the LPG policies have had its own set of challenges. in terms of growing
A, (a)m), @-S@ . unemployment, zmm.ﬁﬁ of pmznsrin. E,Uws concentration of growth process,
5. Iformginr  (0-(), (d)-(z7) spread of consumption, lopsided pattern of growth. unbalanced growth among
% Sation others.
- 7) Both () ap d () Infact, pursual of LPG policies was 10 2 greal extent a mauter of economic
'S8 compulsion rather than a matter of chowe. What is to be recommended is that
LPG policies are pursued with guarded precauions. These precautions incdlude:
. 84
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32,

33.

' ‘ S ics-X|| 20" sample

| watch agams big plavers (MNCs) in the intern
(i) o4 Ve * . . \
0 safeguard the economic interests of oy dom

. [y ﬂl

(») channehsanon of foreign investments (FDI)

SHe e

.“—;ﬂam- ) X , .
., walvers in the (.
_:«

Comprehensive planning i India (launched 1 kick
afier independence) focused on direct Participation or i ¢ the pr in on state
growth and devclopment. Tt stressed on he need o e «_M_m_:ca rm::_:__“_,:.:,
sector enterprises. allowing private enterprises ¢ ol i yernment sj, o the
extent private sector was not allowed to 2:2., O Play mcn_ address 9._ .
cer an oy em .
reasons. These g},

101¢ ingg

31

it | N waive

THES oar

ces. Instead

ﬁmh.: ar

free plav of the market forces was certajp), inhib; €as of p, ul
extent that controls and quotas were ,:.er. lted. |, was g of such factors 5 el 1,  om baymens of
: ia. Yet. comprel e . . Y Pracy i 2 A8 Creyp g ayment of farm oa
in India Yet. comprehensive planning ; PTacticeq 44 a B s, et p-f 101 be mettenced b oo
2 model of n._.,O:.S that did not aj € 1In T..Q_m mTOC~Q St 34. Poverty . €line(] as i} Y ;
’ allow the g, not be food, clothing, , = " n P ol the farmers arising o
ini 'ng, e, 'T other narural ca.amities
[ rrquirements of iife iz

of the matter 1s that it was 3 of
odel of 8row " O the Market forc
0 .

market forces In a manner sych 'th that
. o § that regy] ol
O~u:5m=< ualised, promoung the SCarce resoyur § ated HTO m,w The principal Causeg of S, [t implies rhe inebili
) S STowth wyy . urces of < Povery, life, he :
with mOQN_,_.:mD. Em OOCBEI% Ahv Low Leve] om.z...:.c : yin :,EJ . ealth and efficienc
ce. . ita is mm: naj p L T 7 | P
Svms 1S miser- b ﬂoncz W3
The problem of &me. Or ably |o,, Per capita.
MWQ sz v0<0~‘nv~. nosvm B pita: Vet nauo al N - -
. . HﬂﬁLO{HD . red to its s . nal product of | a o<
economy. Lack of jobs outsjq, agrie 1 UIS rampang jp . (6) Low Rate of ¢ “ o Population. This implies warer
is further compoundeq by th STiculture i the roo¢ ural sect,. of the | Five Year Pig Towth: Rare of growh
! = J [ Cau . e . ns in . 8TOWth of
rise, owing to anwmawmﬂon of mwn.ﬂ that the leveltos se om. this Proble Ndjy, e stain poverty India, 14, _,u#of:_ M,» €Conomy has been quite low 2+.rin 3
labour. Growth of food Proc 28TIculture _nmawzm t _UHMQ:D“_S.Q has e :M Thig (c) Heavy Pres . ¢ of per capia income has rencect -
: 1 B ’ : n Sure of
crop-farming. Syurp] €ssing jngd : Oafallin the . ed of Popylay
) : us . - Ustry w 5 requir 0 Heavy pre ation: pyp,)...: .
farming Onncvmmwﬂm r.&uo:n mn mmin:::”.wmmmw R Job o@@oi:ham S ent o vo<o<wmv~v *uTe of populatio m%r,wm_wuo: has been rising at a rapic pace.
Farm out : OPINg t0 get h: or will be ing $ outsjg - ? dependency burden. implving greater
ﬁﬁﬁ fH: not mcm W. t EWTQH w CHQQ to mo e E . = =
er, ages ve to @) ationary py P
Hms required. Food pro nmmw.momtmm more Eo..rnmnm NW.MM vaSmbm:n wSEowsﬂos. B platio Mv._mmm.wwﬂ._m. Oaf:m t0 low GDP growth and hich erowtk =atc >
e 1n - . rea nt, S 2 oped e, L o' ugh g r Tale Of
amount of work that U@mﬁmmn #nd rise in agriculturg] r Mm:m.mmoa In m,m:d_s spiral. It means 5 m::mﬂo: Mwso::.nm like .:,_QE are vulnerable to inflactonar
In the last two decade ) © be done in farmg Production will Increy § poverty. It erodes reg] in Persistent rise in prices. Inflation compounds
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(b) India offers high quality medical services, especially teruary healthcare which
are at par with those offered in the westat significantly high price.
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